GR 11 REVISION:  TRIG FUNCTIONS
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Sketch the graphs of the functions given below, for the given domain, on separate axes.

Clearly indicate the coordinates of the intercepts with the axes, as well as those of the
turning points.

Write down the period, amplitude and range of each graph.

191 9() = sin @x, x € [~360° 360°]
19.2 f(x) = cos3x, x € [~180°; 180°]
193 k(x)=—tan5x,  xe[0° 360°]
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Draw the graphs of the functions indicated on separate sets of axes. The domain for each
graph is given.

Where applicable, indicate the:

* intercepts with the axes

+ coordinates of the turning points

+ position of the asymptote(s) with a dotted line.

20.1
202
203
204

y =sin(x+30°), xe[-30°%330°]
y= cos(x—45°), xe[-45%3157
y=tan(x +60°), xe[~60%300°]
y=sin(x+20°), xe[-160%160°]




image6.png
Match the function in column A to the correct description in column B.

Column A <
A [y =zsinax

The graph of y = sin x is shifted upwards by three units.

B |[y-snxi3
C [y=sn2e—

The graph has a period of 180° and is shifted 30° to the right,
6 | The amplitude is 2 and the period 120°.
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sin2(x—30%) and p(x) = 5 cos x for x € [~180% 90°] are sketched
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22.1 Write down the range of p.

222 Write down the coordinates of R if the coordinates of P are (~180% 0,866) and
(=270°; 0) respectively.

223 Write down the period of g(2x).

224 Determine the length of ST correct to four decimal places.

22.5 For which values of x is g(x) = p(x)?

22.6 For which values of x is g(x) < p(x)?

22.7 Write down the equation of hif g is shifted 45° to the right and 2,5 units downwards.
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Draw neat sketch graphs of the groups of functions given below on the same system of
axes for the domain given. Indicate the coordinates of the tuming points (where

applicable) as well as the intercepts with the axes. Remember to indicate the asymptotes
where applicable.

161 f(8) =3sin6; g(x)
162 f(x) =5cosx; g(x
g(x;

in0; h(x)=-3sin0—-3; 0°< 0 < 360°

—Scosx; h(x)=—Ssinx+2; —180° < 6 < 180°

tanx—3; h(x)=tanx+5  0°< 0 < 360°
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Copy and complete the table. The domain for all the graphs is 0° < 6 < 360°.

Lowsst | Amplitude | Range | Perlo | Ordered
y-value d

y=3sinx+5
y=cosx—=5
=—tanx -3
y=—4cosx +7
y=tanx+5

y==5sinx+2
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Draw the graphs of the given functions for the indicated domains:
181 y=

x, x € [~180% 180°]
182 y=—3cosx+4,  xe[0% 1807
183 y=3tanx-2, x € [~360% 360°)




